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Ideals for irreducible component#ﬂ)f Xpar

I = W? e 4~ 1)

* 1 irreducible components of dim¢ = 0, with total 52 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u?4+u+... —u?+1)

(i) Arc colorings
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®" — 4u® + ... + 4u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1 W2 — 1305 4+ 4 120+ 1
C2,C3,C7 T T
Cs
€4, C5,C10 w? — P 43042
C6,C11,C12 WPt 4 —ul 41
@ u®? — 50! + - — 40u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 Yyt = T8y +1
C2,C3,C7 y52_59y51_~_.“_2y+1
Cs
€4, C5, C10 Y2 =51yt .. — 13y + 4
C6, C11, C12 Y2+ 41y -2y 4+ 1
Co y°? + 5y°t + .- — 1056y + 256




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

uw= 0.064343 + 1.0786401

—1.40015 + 1.529761

2.75682 — 4.914231

uw= 0.064343 — 1.0786401

—1.40015 — 1.529761

2.75682 + 4.914231

uw = —0.194812 + 1.0847301

—8.02816 — 3.090871

—1.45646 + 3.419851

u = —0.194812 — 1.0847301

—8.02816 + 3.090871

—1.45646 — 3.419851

u= 0.870013

271773

4.26170

u = —0.865904 + 0.0639811

—1.18889 — 8.353711

2.15555 + 4.843861

u = —0.865904 — 0.0639811

—1.18889 + 8.353711

2.15555 — 4.843861

u = 0.863666 + 0.0509771

6.35679 + 5.837661

5.11333 — 6.184401

u = 0.863666 — 0.0509771

6.35679 — 5.837661

5.11333 4 6.184401

uw = —0.861153 + 0.0345631

7.49695 — 2.015421

8.10345 + 0.206931

uw = —0.861153 — 0.0345631

7.49695 + 2.015421

8.10345 — 0.206931

U 0.827069

3.33579

1.47640

u = —0.754834

—4.86426

0.742790

u = —0.414003 + 1.2125001

—4.72599 + 3.767731

uw = —0.414003 — 1.2125007

—4.72599 — 3.767731

u = 0.408857 + 1.2263901

2.73124 — 1.277071

u = 0.408857 —1.2263901

2.73124 + 1.277071

u = 0.140178 + 1.2888201

—3.50980 + 2.560641

u= 0.140178 — 1.2888207

—3.50980 — 2.560641

u = —0.404260 + 1.2428401

3.76212 — 2.5204471

u = —0.404260 — 1.2428401

3.76212 + 2.520441

u = —0.085513 + 1.3110701

—6.02869 — 0.135531

u = —0.085513 — 1.3110701

—6.02869 + 0.135531

u= 0.372465 + 1.2758901

—0.63054 + 4.311311

u = 0.372465 — 1.2758901

—0.63054 — 4.311311

u = —0.158777 + 1.3223901

—5.12877 — 5.768711

u = —0.158777 — 1.3223901

—5.12877 + 5.768711

uw = —0.338582 + 1.2902101

—8.92793 — 3.960751

u = —0.338582 — 1.2902107

—8.92793 + 3.960751

uw= 0.407208 + 1.2725301

—1.23247 + 4.574801
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Solutions to I} V—=1(vol + /=1CS) Cusp shape
u= 0.407208 — 1.2725301 —1.23247 — 4.574801 0
u= 0.077570 + 1.3438501 —13.98360 — 1.280431 0
= 0.077570 — 1.3438501 —13.98360 + 1.280431 0
= 0.163062 + 1.3437501 —12.9213 4 7.83531 0
u = 0.163062 — 1.3437501 —12.9213 — 7.83531 0
u = —0.394503 4 1.2993801 3.33743 — 6.519541 0
u = —0.394503 — 1.2993807 3.33743 4+ 6.519541 0
u= 0.394145 + 1.3108601 2.10315 + 10.350401 0
u = 0.394145 — 1.3108601 2.10315 — 10.350401 0
u = —0.626239 —4.95895 2.64680
u = —0.393511 + 1.3195001 —5.51559 — 12.872601 0
u = —0.393511 — 1.3195007 —5.51559 4 12.872601 0

u = 0.512953 + 0.3247661

—7.72361 + 5.511091

—0.86310 — 6.830021

u = 0.512953 — 0.3247661

—7.72361 — 5.511091

—0.86310 + 6.830021

u = 0.300905 4+ 0.4971361

—8.45912 — 2.431711

—3.43370 — 0.555801

u = 0.300905 — 0.4971361

—8.45912 4 2.431711

—3.43370 + 0.555801

u = —0.483416 4 0.2742181

—0.19689 — 3.535571

2.08708 +9.366611

u = —0.483416 — 0.2742181

—0.19689 + 3.535571

2.08708 — 9.366611

u = 0.439508 4 0.1626841

0.928018 + 0.5468451

7.92121 — 2.358491

u = 0.439508 — 0.1626841

0.928018 — 0.5468451

7.92121 4 2.358491

u = —0.208432 + 0.3944361

—1.026700 4 0.9389011

—2.63217 — 1.483741

u = —0.208432 — 0.3944361

—1.026700 — 0.9389011

—2.63217 4 1.483741




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u’? — 130 4 120+ 1
C2,C3,C7 W 4 w241
Cs8
€4, C5,C10 2yt 3u+ 2
Cg, C11, C12 R T R TR |
€9 u?? —5uPt 4 - — 40u + 16




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Y4y e = T8y 41
C2,€3,C7 Y2 =59t . —2y 41
Cs8
C4,Cs5,C10 y*? —51y°t - — 13y + 4
C6, C11, C12 yor 441yt -2y + 1
€9 Yo% + 5y°! + - — 1056y + 256




